
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Addisjon opptil 1000 (horisontalt)

481 + 414 = 568 + 872 =

380 + 191 = 445 + 843 =

325 + 782 = 351 + 377 =

534 + 345 = 369 + 440 =

355 + 791 = 522 + 731 =

696 + 803 = 827 + 591 =

152 + 57 = 74 + 711 =

226 + 905 = 99 + 902 =

665 + 139 = 106 + 811 =

439 + 193 = 321 + 523 =
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Addisjon opptil 1000 (horisontalt)

481 + 414 = 895 568 + 872 = 1440

380 + 191 = 571 445 + 843 = 1288

325 + 782 = 1107 351 + 377 = 728

534 + 345 = 879 369 + 440 = 809

355 + 791 = 1146 522 + 731 = 1253

696 + 803 = 1499 827 + 591 = 1418

152 + 57 = 209 74 + 711 = 785

226 + 905 = 1131 99 + 902 = 1001

665 + 139 = 804 106 + 811 = 917

439 + 193 = 632 321 + 523 = 844
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